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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Explain the following terms: (1) Annuity(2) True Discount

Calculate the sum:At the rate of 14% interest Jayeshbhai deposits Rs.5,000/-
every year Find the value of accumulated amount deposited after 10 years.
[Use the value of (1.14)!° = 3.707]

Define and explain the rules regarding Limit. lim
x-->0
Distinguish between Banker’s Discount and Banker’s Gain.
OR
Rameshbahi deposits monthly Rs.300/- at the rate of 12% interest in his
G.P.F. Account. Find the deposited amount after 35 years of service. [Use
the value of (1.01)**° = 63.97]

Pranlal discounted a bill of Rs.21,200 at the rate of 18% discount, before 4
Months maturity period. Calculate the amount of Banker’s Gain.
Define and explain the term “Function” and its types.

OR
Calculate the sum:If the Revenue Function of a commodity is R=125X — 3X?
/2, Find the revenue for demand, where X = 20.
If (x) = 3x*+ mx + 5 and f(2) = 27, Find the value of m.

Demand function of a bicycle is d = f (p) = in under root 3100 - 4p,Find
demand for price Rs.375. At what price of bicycle the demand will be 25 ?
Find the value of Banker’s Gain by using the given informations :
Amount of bill is Rs.32,000, Rate of interest is 21%, Maturity period is 4
months and Amount of true discount is Rs.2,100.
OR

Evaluate:
lim
—>2 X2+ X-6

X?-5X +6
Evaluate:
lim
x-->-3 3X° +8X -3

2X%+5X -3

[x

State the objectives of sinking fund.

Ifa=51,d=-3,n=18. Find the value of S18.
OR

Explain the concept of Linear Inequalities.

Draw a graph of Linear Inequalities: 3X + 6Y < 2.
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(EHd 0

lim

—>2 X2 +X-6
X?-5X +6

(Exd 0

lim
x-->-3 3X°+8X-3
2X%+5X -3
RSt §setl 324 wsRUA.
®la=51,d=-3n=188la cl 18 UElsll Aallol (S18) 2.
il
YRU AUUHARAA vALA yHA.

BUUHAL HAW ER: 3X +6Y < 2.
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